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Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
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Assignment

Solve each system 
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Simplify.  Write "undefined" for expressions that are undefined.
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 ⋅ 
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−3 6 10)  
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 ⋅ 
5 3

−3 −1
−1 6

-3-



©E Y280O1b3A cKOuftzav OSzoEfftmwnakrcew OLsLnCJ.0 V nAPlzlr ArBi9g2hltTsD tr7ejsnegrCvseudC.7 9 nMeandPee uwJiitLhA 1I Fncf7iqnNiatMeP 6AClngDe3barea9 b2P.1 Worksheet by Kuta Software LLC-4-

Answers to Assignment (ID: 1)

1)  (−2, −6, −2) 2)  (−1, 6, −1) 3)  (1, 3, −3)
4)  Infinitely many solutions 5)  Infinitely many solutions 6)  (−3, 0, −5)
7)  (4, −2, 3) 8)  (0, 0, 2)

9)  
−24 24
−12 12
−9 42

10)  
38 −17
−6 −1

11)  Undefined
12)  

3 −2
−3 6 13)  

24
36

14)  Undefined

15)  Undefined 16)  Undefined
17)  

2 −12 −14
−1 0 −4

18)  Undefined


